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ED-2067

M. Com. (Final) EXAMINATION, 2021
(Compulsory)

Paper Second
ADVANCED COST ACCOUNTING
Time : Three Hours

Maximum Marks : 100
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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
ShIe—1
(UNIT—1)
AN W 9T AU T ? AN & A dwal #1 faRR
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What do you understand by Cost ? Explain in detail the

different elements of Cost.
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2-3-2016 200 200 -
10-3-2016 300 2.40 -
15-3-2016 - - 250
18-3-2016 250 2.60 -
20-3-2016 - - 200
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The following transactions took place in respect of a

material item :
Date Recep_t Rate (3) Issue_
(Quantity (Quantity)

2-3-2016 200 200 -
10-3-2016 300 2.40 —
15-3-2016 — - 250
18-3-2016 250 2.60 -
20-3-2016 - - 200

Prepare Store Ledger Account applying :

(a) Simple Average method
(b) Weighted Average method
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() HEmE faaRer
3
DTl Hiel HYdd 14,600
ENER 23,200
FREH 22,840
PRI T 12,420
fasma qo 88,400

PRE SURTT &9 W 100% T T SR
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From the following particulars prepare :

(a) Statement of Profits and per Cost Account
(b) Profit and Loss Account
(¢) Reconciliation statement

3
Raw materials consumed 14,600
Wages 23,200
Factory Expenses 22,840
Office expenses 12,420
Sale price 88,400

P.T.O.
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Works overhead is 100% on labour and office
overhead is 20% of works cost.
SR
(Or)
frefoRaa gemmell & a9 2014-15 & fofg ST W IR
DIV

)
S A 5,00,000
A Y D 80,000
wRr ¥ frifad arfh 70,000
59 BT YA 30,000
T g 40,000
YT Y 5,000
U s FHIOTT B BT 80% 2,00,000
IO BT 40,000
AT TR BT 99 4,000
FHTIIA R AW 3,000
SERIKE ] 5,000
At &1 | e 4,000

waq & AT PR 1 SUd, 2014 P URS FIAT| 1 I,
2014 BT T 40,000 ANTd B Ve b @ fifaa foar
TAT| 30-11-2014 HI T 2,000 B ANTA B W0E A D
B BART fHaT TAT| T 1,000 BT &0 AR el TAT
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From the following information, Prepare a Contract
Account for the year 2014-15 :

)
Contract Price 5,00,000
Materials purchased 80,000
Materials issued from store 70,000
Payment to Labour 30,000
Direct expenses 40,000
Indirect expenses 5,000
Cash received being 80% of work certified 2,00,000
Work uncertified 40,000
Materials returned to store 4,000
Materials at site 3,000
Outstanding Wages 5,000
Material destroyed by fire 4,000

The construction of building was started on 1st April,
2014. Plant costing ¥ 40,000 was issued to contract on 1st
June, 2014. On 30-11-2014, Plant costing ¥ 2,000 was
transferred to other contract. Plant costing ¥ 1,000 was
lost by theft and of ¥ 500 was destroyed by fire. Plant
costing ¥ 2,000 was sold for ¥ 2,200. Depreciation of
Plant of charge each year @ 10% p. a.

P.T.O.
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What do you understand by Uniform Costing ? Discuss its
objectives.
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gfehar § o F81 Sl ST © ofhd T BT ATl aTd
TR 25% ™ A 99 S 8| G At # Srel g qeld
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fchar ey’ i g’ i &’
[ ®) | ® [T R
A 1000 | 10,000 | 550 | 15000 | 200 | 2000
oI 4,000 2,000 6,000
eI 6,000 3,000 2,000
arTel  fAfY 60% 80% -
d oo o
T
™ # o 40% 20% 100%
SR T

fafSr <grdm SR Me™ @rdT I8¢ |
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A Manufacturer produces certain goods through three
processes. Profit is not included in the process transfer but
goods in godown are sold at cost plus 25% profit. In each
process 5% of weight put in is lost and 20% is scrapped
which from process ‘A’ and ‘B’ realises ¥ 20 per ton and
from process ‘C’ ¥ 5 per ton. The details of production of
three processes are given below :

Process ‘A’ Process ‘B’ | Process ‘C’

Ton ® Ton ® Ton | ()
Materials | 1000 | 10,000 | 550 | 15000 | 200 | 2000
Wages 4,000 2,000 6,000
EXxpenses 6,000 3,000 2,000
Passed to 60% 80% -
next
process
Carried to 40% 20% 100%
godown

Prepare Process Accounts and Godown Account.
ShIs—4
(UNIT—4)
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Explain the meaning of ‘Variance Analysis’ and describe
its significance.

AT

(Or)
frfeiRad el & MER W e F I, 2019 B AHe
goic SISy AT YD A §d W A1aeID Gfauredl B
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®) ®) ®)
HRE 1,80,000 | 1,24,800 | 12,000
e 1,92,000 | 1,44,000 | 14,000
3t 1,08,000 | 2,43,000 | 11,000
L] 1,74,000 | 2,46,000 | 10,000
Sl 1,26,000 | 2,68,000 | 15,000

@) SuR @l BT 50% S & FTel ATE H qAT 9§
50% fIm @& aFTel @Y AR H el Wl 2 |
IERI BT YA BT & b A YT (HAT Il
g

(@) 1 3d B §d H AT IR T 25,000 o7 |
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From the following data prepare a Cash Budget from
April to June, 2019 and indicate the extent of Bank

facilities required at the end to each month :

(a)

Sales | Purchase | Wages

Month ® | ® | ®

February 1,80,000 | 1,24,800 | 12,000
March 1,92,000 | 1,44,000 | 14,000
April 1,08,000 | 2,43,000 | 11,000
May 1,74,000 | 2,46,000 | 10,000
June 1,26,000 | 2,68,000 | 15,000

(b) 50% of the Credit Sales are realized in the month
following the Sales and the 50% remaining sales in
the second month. The creditors are paid after one
month of purchase.

(c) Cash at Bank on 1st April (estimated) ¥ 25,000.
3PIE—5
(UNIT—S5)
A rTa fafsr & oy Fm wwy § 2 el ol §
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What do you understand by ‘Marginal Costing’ ? State its
usefulness as a tool for corporate decisions.

arerar

(Or)
X forfies ada™= & 100000 sHEA & fAhy WR R B
R T © SR T 25 UT AR AT Ao W GRem A
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% 5,00,000 & gaE™ § ReR @ T 8,00,000 & 3iR 316
I8 ¥ 9,00,000 BT Y& B |

A GRETT W B g9 e @ oy [ &1 Tde
R (HYAT H) A BINY | T A5y TR W AW B

o Y SIRTT |

X Ltd. is currently operating at Sales level of 100000
units leading to a margin of safety of ¥ 5,00,000 at a
selling price of ¥ 25 per unit. The fixed costs currently are
¥ 8,00,000 but are moving upto T 9,00,000. Find out the
new sales level in ¥ 50 as to maintain the current margin
of safety. Also calculate the profit at the new sales level.
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